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Ethics - 18 Questions - 27 minutes



Question: 1 - 28628 

To fulfill your obligation to inform your employer that they need to comply with AIMR's Code and Standards, you: 

	A)
	all of these choices are correct.

	B)
	can notify your employer of their obligation via e-mail.

	C)
	need not inform them if they have publicly adopted the Code and Standards as part of their policy.

	D)
	must inform your immediate supervisor, in writing, of your obligation to comply with the Code and Standards.




Question: 2 - 29147 

There are several procedures to adopt in order to comply with Standard IV(B3), Fair Dealing. All of the following are procedures the firm should employ EXCEPT:
	A)
	establish rules about employee trading activities.

	B)
	maintain a list of clients and their holdings.

	C)
	require clients to "check in" with management at least once per week to facilitate simultaneous dissemination of information regarding recommendations.

	D)
	develop trade allocation procedures.




Question: 3 - 29152 

According to the Code and Standards, a member is a "beneficial owner" if the member has all of the following EXCEPT: 

	A)
	a direct or indirect pecuniary interest in the securities.

	B)
	the power to vote or direct the voting of the shares of the securities or investments.

	C)
	the power to approve and veto changes that affect shareholder wealth. 

	D)
	the power to dispose of or direct the disposition of the security or investment.




Question: 4 - 29156 

Sue Johnson, CFA, has an elderly client with a very large asset base. The client intends to start divesting her fortune to various charities. Sue is on the Board of the local United Way. Sue: 

	A)
	should not discuss anything regarding her client and her client's intentions with the local chapter of United Way in order to comply with Standard IV(B5), Preservation of Confidentiality. 

	B)
	can make this known to the United Way Board so that they can solicit the client, since the client intends to divest assets to charities in the future.

	C)
	should solicit the client herself, along with other Board members to get a larger contribution.

	D)
	can discuss her client's situation with United Way as long as she informs other local charities of her client's intentions in a timely fashion.




Question: 5 - 29160 

Jamie Pyles, a portfolio management trainee for a money management firm, is trying to create a client base. He phones prospective clients, telling them that he is a portfolio manager. He informs prospective clients that based on the last five years of performance of his firm, he can guarantee the client at least a 75% return. He informs them that his firm can provide all of the services that they will ever need. What is the minimum number of misrepresentations Jamie has made to the prospective clients in violation of Standard IV(B6), Prohibition against Misrepresentation. 

	A)
	5.

	B)
	2.

	C)
	3.

	D)
	0.




Question: 6 - 29162 

An analyst is allowed to trade on information that he has predicted, such as a corporate action or event, using perceptive assembly and analysis of material public information or nonmaterial, non-public information. This is called the: 

	A)
	mosaic theory. 

	B)
	deduction theory.

	C)
	assessment theory.

	D)
	creation theory.




Question: 7 - 29203 

Peter Vos, CFA, is a friend and golf partner of Bill Walters, the CEO of Jupiter, Inc. While golfing one day, Bill mentions that there is a tender offer on Jupiter but no one knows yet. Which of the following statements regarding this scenario is FALSE? 

	A)
	Peter Vos is allowed to trade on the information since it came from a reliable source, Bill Walters, CEO. 

	B)
	Bill Walters, CEO, is breaching his fiduciary responsibility by revealing to Peter the information regarding the tender offer.

	C)
	Information about a tender offer is non-public, material information.

	D)
	Peter cannot trade on this information and if he does, he will be violating Standard V(A), Prohibition against Use of Material, Non-public Information.




Question: 8 - 29206 

Which of the following statements regarding Standard V(A), Prohibition Against Use of Material, Non-public Information, is FALSE? 

	A)
	Material, non-public information regarding a tender offer may not be traded on.

	B)
	If you receive the information in a public forum, it has been disseminated, and you can trade on it.

	C)
	If you figure the information via deductive reasoning, via the mosaic theory, you can use it.

	D)
	Information received from an insider who is not breaching his fiduciary responsibility may not be traded on. 




Question: 9 - 29208 

All of the following are major proxy issues EXCEPT: 

	A)
	corporate Governance.

	B)
	takeover defense and related actions.

	C)
	compensation plans.

	D)
	election of internal auditors. 




Question: 10 - 29209 

All of the following activities might constitute a violation of Standard III(B), Duty to Employer, EXCEPT: 

	A)
	conspiracy to bring about a mass resignation of other employees.

	B)
	self-dealing, taking the employer's property or information.

	C)
	consulting on your own time and obtaining written permission from your employer and the party you'll be consulting with. 

	D)
	contacting your current clients and asking them to "come with you" when you resign from your current employer.




Question: 11 - 29211 

Sally Prospect has contracted to do some consulting on the side to earn some extra income to take her family on a ski vacation. She lets her boss know this over lunch one afternoon. Sally is: 

	A)
	not in compliance because according to the AIMR Code and Standards, taking up an independent practice is strictly forbidden.

	B)
	not in compliance with Standard III(B), Duty to Employer, because she failed to get written permission from her employer.

	C)
	in compliance with Standard III(B), because she informed her employer that she was going to do consulting work.

	D)
	not in compliance because the she only informed her boss, but not the CEO and Board of the firm.




Question: 12 - 29212 

With respect to Standard IV(A), Investment Process, members shall do all of the following EXCEPT: 

	A)
	maintain appropriate records to support the reasonableness of recommendations or actions.

	B)
	make reasonable and diligent efforts to avoid any material misrepresentation in any research report or investment recommendation.

	C)
	exercise diligence and thoroughness in making investment recommendations or in taking investment action.

	D)
	quickly inform the injured party(s) when a material misrepresentation has been made.




Question: 13 - 29213 

Tara Bailey was a very strong proponent of Biloxi, Inc. due to a friendship with its founder. She has let her positive feelings for the firm color her research report and has allowed her optimism to be translated into certainty. She has violated all of the following standards EXCEPT: 

	A)
	IV(B1), Fiduciary Duties.

	B)
	III(C), Disclosure of Conflicts to Employer.

	C)
	IV(A1), Reasonable Basis and Representations.

	D)
	IV(A3), Independence and Objectivity.




Question: 14 - 29214 

James Copley, a pension fund manager and a CFA charterholder, has an agreement with a brokerage firm that gives him lower transactions costs on his personal brokerage account along with the firm’s research reports in exchange for directing trades their way. He is violating which of the following standards? 
	A)
	Standard IV(A1), Reasonable Basis and Representations.

	B)
	Standard IV(B1), Fiduciary Duties.

	C)
	Standard IV(A2), Research Reports.

	D)
	Standard IV(B2), Portfolio Investment Recommendations and Actions.




Question: 15 - 29215 

Procedures for compliance with Standard IV(B2), Portfolio Investment Recommendations and Actions, include determining all of the following with respect to a client EXCEPT: 

	A)
	social habits and interests.

	B)
	return objectives.

	C)
	risk tolerances.

	D)
	liquidity needs.




Question: 16 - 29216 

A portfolio manager must determine the client’s constraints, which may include all of the following EXCEPT the client’s: 

	A)
	liquidity needs.

	B)
	time horizon.

	C)
	mortgage payment.

	D)
	tax considerations.




Question: 17 - 29217 

Which of the following statements regarding Standard V(A), Prohibition Against Use of Material, Non-public Information, is FALSE? 
	A)
	If an analyst figures out on her own information that is material, non-public information, she may not trade on that information.

	B)
	Information received in a public forum may be traded on.

	C)
	Information gained through deductive reasoning by the analyst may be traded on.

	D)
	Private information dealing with tender offers may not be traded on.




Question: 18 - 29218 

In research reports, members shall do all of the following EXCEPT: 

	A)
	use reasonable judgment.

	B)
	distinguish between fact and fiction.

	C)
	tailor the research reports for the individual clients.

	D)
	indicate the basic characteristics of the investment.




Quantitative Analysis - 18 Questions - 27 minutes



Question: 19 - 18906 

Which of the following statements about the arithmetic mean is FALSE? 

	A)
	If the distribution is skewed to the left then the mean will be greater than the median.

	B)
	The arithmetic mean is the only measure of central tendency where the sum of the deviations of each observation from the mean is always zero.

	C)
	The arithmetic mean of a frequency distribution is equal to the sum of the class frequency times the midpoint of the frequency class all divided by the number of observations.

	D)
	All interval and ratio data sets have an arithmetic mean.




Question: 20 - 18909 

There is a 30 percent chance that the economy will be good and a 70 percent chance that it will be bad. If the economy is good, your returns will be 20 percent and if the economy is bad, your returns will be 10 percent. What is your expected return? 

	A)
	15%.

	B)
	13%.

	C)
	17%.

	D)
	18%.




Question: 21 - 18910 

Which of the following statements is FALSE? 

	A)
	The coefficient of variation = (mean / standard deviation)(100).

	B)
	Variance equals the sum of the squared deviation from the mean times the probability that that deviation will occur.

	C)
	If investors are risk averse, they will expect to receive greater returns for holding riskier investments than for safer investments.

	D)
	The standard deviation equals the square root of the variance.




Question: 22 - 18911 

The mean return of a portfolio is 10 percent and its standard deviation is 2 percent. Which of the following statements about this distribution are FALSE? The probability of receiving a return: 

	A)
	of less than 6% is .025.

	B)
	in excess of 8% is .16.

	C)
	between 6% and 14% is .95.

	D)
	between 8% and 14% is .815.




Question: 23 - 28626 

Which of the following statements is FALSE? 

	A)
	In a binomial distribution each observation has only two possible outcomes that are mutually exclusive.

	B)
	A probability distribution is a listing of all the outcomes of an experiment and the probability associated with each of these outcomes.

	C)
	The mean and variance of a Poisson distribution are equal.

	D)
	The Poisson distribution is the limiting form of the normal curve where n is small and p is large.




Question: 24 - 28627 

You borrow $15,000 to buy a car. The loan is to be paid off using 12 percent over 5 years. What will the monthly car payments be? 

	A)
	$456.

	B)
	$546.

	C)
	$334.

	D)
	$680.




Question: 25 - 29085 

Claude Bellow, CFA, is an analyst with a real-estate focused investment firm. Today, one of the partners e-mails Bellow the following table and requests that he “run some numbers.” The table below gives five years of annual returns for Marley REIT (real estate investment trust) and a large urban apartment building. Marley REIT invests in commercial properties. (Note: For this question, calculate the mean returns using the arithmetic mean.)

	Table 1:  Annual returns (in %)

	Asset
	
	
	
	
	

	Year 1
	Year 2
	Year 3
	Year 4
	Year 5
	

	Marley REIT
	15.0
	8.0
	13.0
	9.0
	13.0

	Apartment Bldg
	10.0
	-1.0
	8.0
	8.0
	9.0


One of the office assistants begins to “run some numbers,” but is then called away to an important meeting. So far, the assistant calculated the variance of the apartment building returns at 15.76%. (He assumed that the returns given represent the entire population of returns.) Now, Bellow must finish the work. 

Bellow should conclude that the standard deviation of the:
	A)
	apartment building, if the given returns represent a sample of returns, is 19.70%.

	B)
	REIT, assuming the given returns represent the entire population, is 2.97%.

	C)
	apartment building, if the given returns represent a sample of returns, is 4.44%.

	D)
	REIT, assuming the given returns represent a sample of returns, is 7.04%.




Question: 26 - 29342 

If the present value of a 30-year, ordinary annuity cash flow stream is $600,000 and the investor’s opportunity cost of capital is 6%, what must the annual, end of the year payment be? 

	A)
	$41,122.02.

	B)
	$36,000.00.

	C)
	$46,204.71.

	D)
	$43,589.35.




Question: 27 - 29343 

Find the present value of the following uneven cash flow stream.  Assume end of the year payments.  The discount rate is 12%.
	Yr 1
	-2,000

	Yr 2
	-3,000

	Yr 3
	6,000

	Yr 4
	25,000

	Yr 5
	30,000


	A)
	$58,164.58.

	B)
	$33,004.15.

	C)
	$36,964.65.

	D)
	$65,144.33.




Question: 28 - 29344 

Find the future value of the following uneven cash flow stream.  Assume end of the year payments.  The discount rate is 12%.
	Yr 1
	-2,000

	Yr 2
	-3,000

	Yr 3
	  6,000

	Yr 4
	25,000

	Yr 5
	30,000


	A)
	$58,164.58.

	B)
	$33,004.15.

	C)
	$36,964.65.

	D)
	$65,144.33.




Question: 29 - 29345 

If the standard deviation of returns of Stock A is 10.04% and the standard deviation of returns of Stock B is 2.05% and the covariance between the two stocks is 0.00109, what is the correlation coefficient between the two stocks? 

	A)
	0.5296.

	B)
	0.6556.

	C)
	0.7658.

	D)
	0.4587.




Question: 30 - 18576 

Which of the following statements about the standard error of estimate is FALSE? The standard error of estimate: 

	A)
	measures the Y variable's variability that is not explained by the regression equation.

	B)
	measures the distance of the Y variables from the values projected by the regression line.

	C)
	is the square root of the sum of the squared deviations from the regression line divided by n-2.

	D)
	is the square of the coefficient of determination.




Question: 31 - 18577 

Which of the following statements about confidence intervals is FALSE? 

	A)
	Confidence and prediction intervals are used to test the quality of predictions using the regression equation.

	B)
	The confidence interval is wider than the prediction interval.

	C)
	Confidence intervals are boundaries about the entire regression line while prediction intervals are boundaries about a specific dependent variable.

	D)
	A confidence interval is a + or - band about the regression line estimation. You can say with the selected degree of confidence that the actual value will fall within these boundaries.




Question: 32 - 28622 

What is the following hypothesis? 

Null H0: B = 0 

Alt HA: B > 0 

	A)
	two tailed test.

	B)
	multidirectional test.

	C)
	improperly worded hypothesis.

	D)
	one tailed test.




Question: 33 - 28623 

Which of the following statements about the correlation coefficient is FALSE? 

	A)
	The correlation coefficient can vary between -1 and +1.

	B)
	If the correlation coefficient is negative it indicates that the regression line has a negative beta.

	C)
	If the regression line is flat and the observations are dispersed uniformly about the line the correlation coefficient will be + 1.

	D)
	The correlation coefficient describes the strength of the relationship between the X variable and the Y variable.




Question: 34 - 28624 

Which of the following statements is FALSE? 

	A)
	1 - R2 is the percent of Y's variability that is unique to the Y variable.

	B)
	When the coefficient of determination is high (close to 1) it proves that there is a causal relationship between the X and Y variables.

	C)
	The coefficient of determination is the square of the correlation coefficient.

	D)
	A high R2 indicates that most of the independent variable's variability is explained by the regression equation.




Question: 35 - 28625 

Given the following regression statistics:
· X is equal to 10 

· The Y-intercept is 2 

· The slope coefficient is 3 

· The standard error of the estimate is 2 

· The coefficient of determination is .6 

What is the projected value of Y?
	A)
	8.

	B)
	20.

	C)
	24.

	D)
	32.




Question: 36 - 29346 

Given a mean of 10% and a standard deviation of 14%, what is a 95% confidence interval for the return next year? 

	A)
	-17.44% to 37.44%.

	B)
	-4.00% to 24.00%.

	C)
	-17.00% to 38.00%.

	D)
	-12.56% to 25.44%.




Economics - 14 Questions - 21 minutes



Question: 37 - 12365 

Keynesian countercyclical budget policy suggests that: 

	A)
	a budget deficit is needed if the full-employment level of income is less than the current equilibrium level of income.

	B)
	a budget deficit is needed if current output is less than the economy's long-run, full employment equilibrium.

	C)
	the budget should always be in balance.

	D)
	a budget deficit should be planned during an inflationary boom.




Question: 38 - 28594 

The velocity of money is the: 

	A)
	rate at which the price index for consumer goods rises.

	B)
	output expansion multiple of government expenditures.

	C)
	number of times a dollar is taken out of the country during a year.

	D)
	average number of times a dollar is used to purchase goods and services.




Question: 39 - 29324 

Which of the following actions by the Federal Reserve would NOT be considered part of expansionary policy? 

	A)
	Raising the reserve requirement.

	B)
	Lowering the discount rate.

	C)
	Lowering the reserve requirement

	D)
	Buying government securities.




Question: 40 - 28595 

Which of the following statements are TRUE? 

	A)
	All of these choices are correct.

	B)
	Given the assumptions of the competitive model, allocative efficiency would be present if all markets were in long run competitive equilibrium.

	C)
	A profit-maximizing firm will heed the desires of consumers, including the desires of consumers whom the owners of the firm have never met.

	D)
	In long run equilibrium, purely competitive firms will charge a price that is just equal to their minimum average total costs.




Question: 41 - 29055 

Which of the following statements about price takers and price searchers is TRUE? 

	A)
	In the long run, both price takers and price searchers maximize profits at the quantity corresponding to the minimum point on the average total cost curve (ATC).

	B)
	In the long run, both price takers and price searchers will have zero economic profits.

	C)
	Price takers maximize profits at the point Price = Marginal Revenue = Marginal Costs.

	D)
	The potential allocative inefficiency of a price searcher engaged in monopolistic competition includes the social cost of producing where P=MC. 




Question: 42 - 29326 

Movements along a demand curve result from changes in: 

	A)
	disposable income.

	B)
	the availability of substitutes.

	C)
	the price of the good.

	D)
	demographics such as the number of consumers.




Question: 43 - 29327 

Which of the following is an example of the law of diminishing marginal utility? 

	A)
	You eat an apple, a sandwich and a glass of milk for lunch.

	B)
	You decide to get gas for your car later in the week in case the price drops a bit.

	C)
	After three orders of french fries you decide an apple would be better than a fourth order of fries.

	D)
	You take the bus to work instead of your car to lower your expenses for the week.




Question: 44 - 29329 

All of the following market and product features define monopolistic competition EXCEPT: 

	A)
	sellers produce a differentiated product.

	B)
	the market has low barriers to entry.

	C)
	demand is highly elastic.

	D)
	there are a small number of independent sellers.




Question: 45 - 12825 

The law of comparative advantage states that: 

	A)
	a nation can gain from trade even if its trading partners are low-wage countries.

	B)
	specialization and exchange will permit trading partners to maximize their joint output.

	C)
	all of these choices are correct.

	D)
	a nation can gain from trade even when it is at an absolute disadvantage in the production of all goods.




Question: 46 - 28596 

If the exchange rate value of the Guilder goes from $.50 to $.60, then the Guilder has: 

	A)
	depreciated and the Dutch will find U.S. goods cheaper.

	B)
	appreciated and the Dutch will find U.S. goods more expensive.

	C)
	depreciated and the Dutch will find U.S. goods more expensive.

	D)
	appreciated and the Dutch will find U.S. goods cheaper.




Question: 47 - 28597 

Which of the following statements are TRUE? 

	A)
	If the DEM goes from 2 DEM/USD to 1.75 DEM/USD the dollar has appreciated.

	B)
	Standard interbank dealer quotes are foreign currency over the U.S. dollar.

	C)
	The ask price (DEM / USD) is what the bank will sell a DEM for.

	D)
	The bid price (DEM / USD) is what the bank will buy a DEM for.




Question: 48 - 28598 

Which of the following statements about exchange rates are TRUE? 

	A)
	Given the bid ask spread between francs and dollars is 6.0000-25, and the bid ask spread between marks and dollars is 2.0000-15, then the bid ask spread between francs and marks is 2.875-2.934.

	B)
	A bid of 8.000 pesos/dollar, means the bank will sell you a dollar for 8 pesos.

	C)
	Spot exchange rates, forward exchange rates, and interest rates are only loosely linked.

	D)
	The bid ask spread is a function of breadth, depth, and volatility of the market for a currency.




Question: 49 - 29060 

One year ago, the Canadian Dollar (CAD) was quoted at Australian Dollar (AUD) 0.79800. Today, the CAD is trading at AUD 0.82400. Assume that Canada and Australia are trading partners. Which of the following statements is most accurate? Over the past year, the Canadian: 

	A)
	government recently undertook an unanticipated expansionary fiscal policy action.

	B)
	real interest rate decreased (relative to Australia's real interest rate).

	C)
	economy grew at a faster rate than the Australian economy.

	D)
	government undertook an unanticipated expansionary monetary policy action.




Question: 50 - 29073 

Calvin Gooden, an assistant economist with the World Bank, is a member of a Level 1 CFA study group. Most of the members of his group do not have an economics background and are frustrated with the material on comparative advantage. Gooden devises the following question to help them study. The table below gives the prices of four goods (jeans, wine, cheese, and LCD screens) in France and the United Kingdom (U.K.). Gooden tells the group to assume that the current exchange rate is €1.5 / £1.0.
	Good

	France (in €)
	United Kingdom (in £)

	Jeans
	42
	26

	Wine
	18
	14

	Cheese
	5
	3

	LCD Screens
	85
	50


Acting to minimize costs, French consumers will purchase:
	A)
	French wine and cheese and British jeans and LCD screens.

	B)
	British jeans and cheese and French wine and LCD screens.

	C)
	British wine and French jeans, cheese, and LCD screens.

	D)
	French wine and British jeans, cheese, and LCD screens.




Financial Statement Analysis (FSA) - 30 Questions - 45 minutes



Question: 51 - 28612 

If a company recognizes revenue faster than justified, which of the following best describes whether accounts receivable, inventory, and retained earnings are overstated or understated, respectively?
	A)
	Understated, understated, understated.

	B)
	Overstated, overstated, overstated.

	C)
	Understated, understated, overstated.

	D)
	Overstated, understated, overstated.




Question: 52 - 29435 

Ultimate Furniture, Inc. is a manufacturer of unique specialty furniture. Its products are sold to wholesalers who are invoiced 15 days after delivery. The wholesalers have the right to return unsold items within six months of delivery for a full refund of the invoice price. Ultimate Furniture sold furniture to Johnson Furniture Store for $100,000, which was both sold and delivered in September 2001. The furniture was invoiced in October 2001 and payment was received in December 2001.

Ultimate Furniture should recognize $100,000 of revenue in: 
	A)
	September 2001.

	B)
	March 2002.

	C)
	October 2001.

	D)
	December 2001.




Question: 53 - 29436 

Embassy Corp. purchased a milling machine on June 30, 1998, for $6,600,000. The machine was being depreciated using the straight-line method over five years until January 1, 2001, when the total useful life was revised downward to four years and the salvage value was changed from $600,000 to $300,000

Depreciation Expense related to this machine as shown on Embassy’s income statement for the year ended December 31, 2001, is: 
	A)
	$2,000,000.

	B)
	$2,200,000.

	C)
	$1,800,000.

	D)
	$1,200,000.




Question: 54 - 29437 

Copper, Inc. initially issued 100,000 shares of $1 par value stock for $500,000 in 1998. In 2000 the company repurchased 10,000 shares for $100,000. In 2001, 5,000 of the repurchased shares were resold for $80,000.

In its balance sheet dated December 31, 2001 Copper, Inc.’s Treasury Stock account shows a balance of: 
	A)
	$0.

	B)
	$20,000.

	C)
	$50,000.

	D)
	$100,000.




Question: 55 - 29438 

Timber Corp., a logging company, contracted with Woodhouse, Inc. to provide lumber for Woodhouse’s building operations for a three-year period beginning in 2001. The total contract is for $60 million and Timber’s costs are expected to be $45 million. Because the costs cannot be reliably estimated, Timber elected to use the completed contract method to account for this contract.

In 2001, Timber incurred costs of $15 million, issued advance billings of $25 million, and collected $22 million in cash from the advance billing.

Timber Corp.’s balance sheet for the year ended December 31, 2001, shows a balance of: 
	A)
	$5 million in the Net Advance Billings liability account.

	B)
	$3 million in the Net Advance Billings liability account.

	C)
	$5 million in the Net Construction-in-Process asset account.

	D)
	$10 million in the Net Advance Billings liability account.




Question: 56 - 29439 

Each of the following is included in Horizon Company’s cash flows from operations (CFO) EXCEPT: 

	A)
	income taxes paid on Horizon's reacquisition of treasury stock at a gain.

	B)
	income taxes paid on a gain on sale of equipment by Horizon.

	C)
	principal payments received on a loan to a purchaser of used equipment from Horizon Company.

	D)
	advance payments received in the first year of a multi-year construction contract in excess of the cost of the contract to date.




Question: 57 - 29440 

Capital Corp.’s activities in the year 2001 included the following:
· At the beginning of the year, Capital purchased a cargo plane from Aviation Partners for $10 million in a transaction consisting of $2 million cash, $3 million in Capital Corp. bonds and $5 million in Capital Corp. preferred stock. 
· Interest of $150,000 was paid on the bonds, and dividends of $250,000 were paid on the preferred stock. 
· At the end of the year, the cargo plane was sold for $12,000,000 cash to Standard Company.  Proceeds from the sale were used to pay off the $3 million in bonds held by Aviation Partners. 
On Capital Corp.’s Statement of Cash Flow for the year ended December 31, 2001, cash flow from investments (CFI) related to the above activities is:

	A)
	$9,750,000.

	B)
	$6,750,000.

	C)
	$6,600,000.

	D)
	$10,000,000.




Question: 58 - 14649 

Return on equity equals: 

	A)
	(sales/Equity)(EAT/Sales).

	B)
	(after tax profit margin)(Total asset turnover)(Assets to equity).

	C)
	[(pre-interest Profit margin)(asset turnover) - (interest expense)](leverage)(tax retention).

	D)
	all of these choices are correct.




Question: 59 - 29441 

Comparative income statements for E Company and G Company for the year ended December 31, 2001, show the following (in $ millions):
	 
	E Company
	G Company

	Sales
	70
	90

	Cost of Goods Sold
	(30)
	(40)

	  Gross Profit
	40
	50

	Sales and Administration
	 (5)
	(15)

	Depreciation
	 (5)
	(10)

	  Operating Profit
	30
	25

	Interest Expense
	(20)
	 (5)

	  Earnings Before Taxes
	10
	20

	Income Taxes
	 (4)
	 (8)

	  Earnings after Taxes
	 6
	12


The financial risk of E Company, as measured by the interest coverage ratio, is:
	A)
	higher than G Company's because its interest coverage ratio is less than G Company's, but at least one-third of G Company's. 

	B)
	higher than G Company's because its interest coverage ratio is less than one-third of G Company's.

	C)
	lower than G Company's because its interest coverage ratio is more than G Company's but less than three times G Company's. 

	D)
	lower than G Company's because its interest coverage ratio is at least three times G Company's. 




Question: 60 - 29442 

When the external liquidity of a company’s shares is generally improving, which of the following conditions is NOT present? The: 

	A)
	market value of the outstanding securities is growing.

	B)
	trading turnover is increasing.

	C)
	total market value of the shares is increasing.

	D)
	size of the bid-ask spread is growing.




Question: 61 - 29443 

Selected financial data for Alabama Corp. for the year ended December 31, 2001, was as follows (in $ millions): 

	 
	2000
	2001

	Retained Earnings at January 1
	120 
	200 

	Net Income for the year
	215 
	240 

	Preferred Stock Dividends
	(25)
	(50)

	Common Stock Dividends
	(110)
	(130)

	  Retained Earnings at December 31
	200 
	260 


Alabama Corp.’s average common equity was $800 million in 2000 and $860 million in 2001.  Alabama’s return on common equity in 2001:

	A)
	decreased by less than 1 percentage point as compared to 2000.

	B)
	increased by less than 1 percentage point as compared to 2000.

	C)
	increased by at least 1 percentage point as compared to 2000.

	D)
	decreased by at least 1 percentage point as compared to 2000.




Question: 62 - 29444 

Connecticut, Inc.’s stock transactions during the year 2001 were as follows:

· January 1                      360,000 common shares outstanding. 

· April 1                           1 for 3 reverse stock split. 

· July 1                            60,000 common shares issued. 

When computing for earnings per share (EPS) computation purposes, what is Connecticut’s weighted average number of shares outstanding during 2001?
	A)
	210,000.

	B)
	140,000.

	C)
	270,000.

	D)
	150,000.




Question: 63 - 29445 

Selected information from Ebony, Inc.’s financial activities in the year 2001 is as follows:

· Net income was $1,200,000. 

· 870,000 shares of common stock were outstanding on January 1. 
· The average market price per share was $6 in 2001. 
· Dividends were paid in 2001. 
· 8,000 shares of seven percent $200 par value preferred shares, convertible into common shares at a rate of 20 common shares for each preferred share, were outstanding for the entire year. 
· 1,000 warrants, which allow the holder to purchase 100 shares of common stock for each warrant held at a price of $8.00 per common share, were outstanding for the entire year. 
Ebony, Inc.’s Diluted earnings per share (Diluted EPS) for 2001 is closest to: (If there are no dilutive securities, use basic EPS.)
	A)
	$1.25.

	B)
	$1.33.

	C)
	$1.17.

	D)
	$1.12.




Question: 64 - 29446 

Orange Company’s net income for 2001 was $7,600,000 with 2,000,000 shares outstanding. The average share price in 2001 was $55. Orange had 10,000 shares of eight percent $1,000 par value convertible preferred stock outstanding since 2000. Each preferred share was convertible into 20 shares of common stock.

Orange Company’s diluted earnings per share (Diluted EPS) for 2001 is closest to: 
	A)
	$3.45.

	B)
	$3.80.

	C)
	$3.40.

	D)
	$3.25.




Question: 65 - 14820 

During periods of rising prices: 

	A)
	LIFO COGS > Weighted Average COGS > FIFO COGS.

	B)
	LIFO COGS < Weighted Average COGS < FIFO COGS.

	C)
	LIFO COGS = Weighted Average COGS = FIFO COGS.

	D)
	LIFO COGS > Weighted Average COGS < FIFO COGS.




Question: 66 - 14822 

Which of the following is a result of a firm using LIFO in periods of rising prices and stable or increasing inventory quantities? Taxes and cash flows, respectively, will be: 

	A)
	higher, higher.

	B)
	lower, lower.

	C)
	lower, higher.

	D)
	higher, lower.




Question: 67 - 28613 

Two growing firms are identical except that Firm A capitalizes whereas Firm B expenses costs for long-lived resources over time. For these two firms, which of the following financial statement effects is/are generally FALSE? 

	A)
	Firm A will show a less volatile pattern of reported income than Firm B.

	B)
	Firm A will show a more volatile pattern of return on assets than Firm B.

	C)
	Firm A will show higher cash flows from operations than Firm B.

	D)
	None of these choices are false.




Question: 68 - 28614 

Which of the following statements about depreciation is FALSE? 

	A)
	To account for the purchase of a machine, a company may use either SL or the SYD depreciation. Return on investment for the machine will initially be higher under SL than under SYD.

	B)
	A company acquires a machine with an estimated ten-year service life. If the company uses the sum-of-the-year's-digits (SYD) depreciation method instead of the SL method its income will be higher in the tenth year.

	C)
	Accelerated depreciation methods tend to increase both net income and stockholders' equity when compared with the straight-line method.

	D)
	Straight-line depreciation (SL) introduces a built-in increase in return on investment over the asset's life.




Question: 69 - 29447 

In a period of rising prices and stable or increasing inventory quantities, use of the first in, first out (FIFO) inventory cost flow assumption results in all of the following EXCEPT: 

	A)
	higher earnings before taxes than under last in, first out (LIFO).

	B)
	higher earnings after taxes than under last in, first out (LIFO).

	C)
	lower inventory balances than under last in, first out (LIFO).

	D)
	higher working capital than under last in, first out (LIFO).




Question: 70 - 29448 

Selected information from Mendota, Inc.’s financial statements for the year ended December 31, 2001, includes the following (in $):
	Sales
	7,000,000

	Cost of Goods Sold
	5,000,000

	LIFO Reserve on Jan. 1  
	600,000

	LIFO Reserve on Dec. 31
	850,000


Mendota uses the last in, first out (LIFO) inventory cost flow assumption.  The tax rate is 40 percent.  If Mendota changed from LIFO to first in, first out (FIFO), the gross profit margin would:
	A)
	increase from 28.6 percent to 30.0 percent.

	B)
	increase from 28.6 percent to 40.1 percent.

	C)
	remain unchanged at 28.6 percent.

	D)
	increase from 28.6 percent to 32.1 percent.




Question: 71 - 29449 

Zanzibar Corp. incurs interest costs of $1 million in 2000 and $1.5 million in 2001 constructing a new factory facility for its operations.  In Zanzibar’s financial statements for the years ended December 31, 2000, and 2001, the interest cost is capitalized.  The building is not placed in service until 2002.
Other information from the 2001 financial statements is as follows (in $ millions):
	Interest Expense
	3.0

	Income Tax Expense
	0.0

	Net Income
	9.0


Ignoring income taxes, if the construction interest is expensed, Zanzibar’s interest coverage ratio in 2001 will:
	A)
	decrease from 4.0 to 2.7 times.

	B)
	decrease from 4.0 to 2.0 times.

	C)
	decrease from 3.0 to 2.0 times.

	D)
	increase from 3.0 to 8.0 times.




Question: 72 - 29450 

Accounting depreciation is based on the concept that provisions must be made for an asset’s replacement. However, accounting depreciation often falls short of true economic depreciation. The following factors all hinder the ability of accounting depreciation to approximate true economic depreciation EXCEPT: 

	A)
	depreciable basis being limited to historical cost.

	B)
	accelerated depreciation methods.

	C)
	difficulty predicting assets' useful life accurately.

	D)
	the effects of inflation.




Question: 73 - 29451 

Selected information from Jason Corp.’s financial statements for the year ended December 31, 2001, is as follows (before considering the asset write-down)(in $):
	Sales
	27,000,000 

	Cost of Goods Sold
	(15,000,000)

	  Gross Profit
	12,000,000 

	Depreciation Expense
	(5,000,000)

	Other Expenses
	(1,000,000)

	  Operating Income (EBIT)
	6,000,000 

	Interest Expense
	(1,000,000)

	Income Taxes Expense
	(2,000,000)

	  Net Income
	3,000,000 


Jason Corp. has a permanently impaired asset that must be written down from its carrying value of $5,000,000 to its present value of future cash flows of $3,500,000.  The asset’s salvage value is $1,000,000.  As a result of the write-down, Jason’s operating profit margin will be:
	A)
	reduced from 22.2 percent to 18.5 percent.

	B)
	reduced from 22.2 percent to 16.7 percent.

	C)
	unchanged.

	D)
	reduced from 22.2 percent to 14.2 percent.




Question: 74 - 28615 

Which of the following statements about leasing is FALSE? 

	A)
	The interest rate implicit in a lease is the discount rate that the lessor used to determine the lease payments.

	B)
	When a sale leaseback represents substantially the entire asset any profit from the sale must be deferred and amortized over the life of the lease.

	C)
	If it is determined that the lessor is only financing the purchase of an asset the capital lease is considered to be a direct financing lease. In this case gross profits must be recognized at the inception of the lease.

	D)
	Firms that capitalize their leases will have lower current ratios and higher debt to equity ratios than firms that treat the leases as operating leases.




Question: 75 - 28616 

The following information is regarding a plane being leased:
· The lease is a 10-year capital lease with annual payments of $500,000 

· There is a guaranteed residual value of $600,000 at the end of the lease 

· The present value of the lease discounted at the appropriate interest rate (10%) is $3,600,000 

· The company uses the straight-line depreciation method 

In the first year, the reported lease related expense is:
	A)
	0.

	B)
	$660,000.

	C)
	$300,000.

	D)
	$600,000.




Question: 76 - 29452 

Dalrymple, Inc. has operations in a country that taxes ordinary net income at a rate of 40 percent, has gains on the sale of long-term assets at 20 percent and exempts interest income from any taxation.  For the year ended December 31, 2001, Dalrymple’s net income before taxes is derived from the following sources:

	Net Income from Ordinary Activities
	$2,000,000

	Net Income from Sale of Long-term Asset
	1,000,000

	Net Interest Income
	  1,000,000

	Net Income before Taxes
	4,000,000


On its Income Statement for the year ended December 31, 2001, Dalrymple should:
	A)
	apply an effective tax rate of 25 percent.

	B)
	show its income in different categories and apply the appropriate tax rate to each.

	C)
	apply an effective tax rate of 40 percent and add $600,000 to its deferred tax liability account.

	D)
	apply an effective tax rate of 40 percent and add $600,000 to its deferred tax equity account.




Question: 77 - 29453 

On December 31, 2001, Kringle Corp. sold a portion of its computer inventory on a four-year installment sale basis for a total of $10,000,000, with 25 percent paid on the date of the sale and the balance due in three equal annual installments. Kringle’s cost in the computer equipment was $6,000,000. The computers carry a two-year warranty estimated at $600,000. Kringle recognizes revenue at the point of sale and expense at the time of accrual. For tax reporting purposes, however, Kringle recognizes income when cash is received and is not permitted to recognize warranty expense until actual warranty expense is incurred. Kringle’s tax rate is 30 percent.

For the year ended December 31, 2001, Kringle should show, based on the above transaction, an increase in its tax-deferred: 
	A)
	liability account of $720,000.

	B)
	asset account of $720,000.

	C)
	liability account of $900,000 and an increase in its tax-deferred asset account of $180,000. 

	D)
	asset account of $900,000 and an increase in its tax-deferred asset account of $180,000.




Question: 78 - 29454 

On December 31, 2000, Newberg, Inc. issued 5,000 $1,000 face value seven percent bonds to yield six percent. The bonds pay interest semi-annually and are due December 31, 2007.

On its December 31, 2001, income statement, Newburg should record interest expense of: 
	A)
	$350,000.

	B)
	$316,448.

	C)
	$300,000.

	D)
	$309,344.




Question: 79 - 29455 

Sundial Manufacturing Company’s balance sheet includes the following as of December 31, 2001 (in $ millions):
	Accounts Payable
	14

	Long-term Bonds
	22

	Common Stock
	15

	Retained Earnings
	28

	  Total Liabilities and Equity
	79


If Sundial issues $10 million in convertible preferred stock, the total debt ratio will:
	A)
	decrease from 45.6 percent to 58.2 percent.

	B)
	decrease from 45.6 percent to 40.4 percent.

	C)
	decrease from 83.7 percent to 67.9 percent.

	D)
	be unchanged.




Question: 80 - 29456 

On December 31, 2000, Baxter Corp. executed a seven-year lease with annual payments of $300,000 for factory equipment.  

· The economic life of the equipment is 10 years. 

· Baxter has the option to purchase the equipment for its then-current fair market value at the end of the lease.  

· The interest rate implicit in the lease is seven percent. 

· Baxter Company’s incremental borrowing rate is eight percent. 

· The fair market value of the factory equipment on December 31, 2000, was $1,750,000. 

Treating the above transaction as an operating lease, Baxter’s income statement for the year ended December 31, 2001, is as follows:

	Sales
	$4,000,000 

	Cost of Goods Sold
	(2,200,000)

	  Gross Profit
	1,800,000 

	Depreciation
	(200,000)

	Lease Expense
	(300,000)

	Sales and Administration
	(500,000)

	  Operating Profit
	800,000 

	Interest Expense
	(200,000)

	Income Taxes
	(200,000)

	  Net Income
	$400,000 


Assuming Income Taxes are constant at $200,000 and after considering whether the factory equipment lease should be reclassified as a capital lease, Baxter’s operating profit margin ratio will:
	A)
	decrease from 20.0 to 27.5 percent.

	B)
	increase from 20.0 to 24.6 percent.

	C)
	increase from 20.0 to 21.7 percent.

	D)
	remain unchanged.




Asset Valuation - 28 Questions - 42 minutes



Question: 81 - 28619 

Which of the following statements are TRUE?
   I.    When calculating the cash flows for a project, you should include interest payments.
  II.    Cash flows that are classified as incremental are relevant to capital budgeting project analysis.
 III.    If an investment project would make use of property that the firm currently owns, the project should be charged with the opportunity cost (rental income) of the property.
IV.    Since capital budgeting is based on cash flows rather than net accounting income, changes in non-cash balance sheet accounts such as inventory are not relevant to the analysis.   
	A)
	I and III only.

	B)
	II and III only.

	C)
	III and IV only.

	D)
	I and IV only.




Question: 82 - 28620 

Which of the following statements about projects is FALSE? 

	A)
	If investors are not well diversified they may want management to concentrate more on project risk than on market (beta) risk.

	B)
	The pure play approach to risk analysis adjusts the project's cost of equity capital based on the average beta coefficients of existing firms similar to the project.

	C)
	The riskier the project's income stream, the higher the discount rate should be.

	D)
	Mutually exclusive projects should be analyzed using the internal rate of return method.




Question: 83 - 28621 

Which of the following statements about dividends is FALSE? 

	A)
	The bird-in-hand theory implies that investors prefer capital gains to current dividends.

	B)
	If a company has an established clientele who prefer large dividends the company is unlikely to adopt a residual dividend policy.

	C)
	If a firm follows a residual dividend policy, its dividend payout will tend to fall whenever the firm's investment opportunities improve.

	D)
	Current tax law encourages companies to pay low dividends to their shareholders.




Question: 84 - 28606 

Which of the following statements about how to construct an index is FALSE? 

	A)
	Select a representative sample of the market or sector to be measured.

	B)
	Determine the weighting to be given to each individual security in the sample.

	C)
	Determine the computational procedure to use to average the individual securities in the sample.

	D)
	Selecting a larger sample size is preferable to a smaller sample size.




Question: 85 - 28617 

Which of the following statements about estimating a company's profit margin is FALSE? 

	A)
	Analyze the firm's internal performance.

	B)
	Study the firm's relationship with its industry.

	C)
	Identify and evaluate the firm's specific competitive strategies.

	D)
	Determine the firm's sales estimate.




Question: 86 - 28618 

Which of the following is a bearish signal to a contrarian? 

	A)
	The OTC versus NYSE Volume Ratio is low.

	B)
	A high mutual funds cash to total assets position.

	C)
	A low CBOE put/call ratio.

	D)
	A large proportion of stock futures speculators are bearish.




Question: 87 - 13607 

Which of the following statements does NOT accurately describe a characteristic of an inverse floater? A floating-rate issue: 

	A)
	whose coupon rate will increase as market rates decrease and decrease as market rates increase.

	B)
	whose coupon is determined by subtracting a reference rate from some stated maximum rate.

	C)
	that has an implicit cap on the maximum coupon rate and typically includes a floor on the minimum coupon rate.

	D)
	that may, under certain circumstances, require the bondholder to make payments to the issuer.




Question: 88 - 28600 

The term structure of interest rate theory that says long term maturities have greater market risk than shorter maturities is called the: 

	A)
	liquidity premium theory.

	B)
	market segmentation theory.

	C)
	preferred habitat theory.

	D)
	pure expectations theory.




Question: 89 - 28604 

Which statement describes a premium bond? 

	A)
	Coupon rate > current yield > yield-to-maturity.

	B)
	Coupon rate > current yield < yield-to-maturity.

	C)
	Coupon rate = current yield = yield-to-maturity.

	D)
	Coupon rate < current yield < yield-to-maturity.




Question: 90 - 28605 

In the United States, an income bond not currently paying interest and a bond of the highest quality would be assigned the following quality ratings (by Standard & Poors), respectively:
	A)
	CI, AAA

	B)
	B, A

	C)
	D, AA

	D)
	F, AAA




Question: 91 - 28599 

The six-month spot rate is 4 percent and the 1 year annualized spot rate is 9 percent (4.5 on a semi annual basis). Based on the pure expectations theory of interest rates, what is the market projecting the six-month implied rate six months from now? 

	A)
	5%.

	B)
	4%.

	C)
	3%.

	D)
	6%.




Question: 92 - 28601 

An $850 bond has a modified duration of 8. If interest rates fall 50 basis points the bond's price will: 

	A)
	rise 22.50%.

	B)
	rise $4.00.

	C)
	fall $22.50.

	D)
	rise $34.00.




Question: 93 - 28602 

Convexity is important because: 

	A)
	it measures the volatility of non-callable bonds.

	B)
	the slope of the price yield curve is not linear.

	C)
	it can be used to indicate the optimal hedge ratio.

	D)
	the slope of the callable bond price/yield curve is backward bending at high interest rates.




Question: 94 - 28603 

A $1,000 par value, 10 percent semi-annual, 20-year debenture bond is currently selling for $1,100. What is this bond's current yield? 

	A)
	8.9%.

	B)
	9.1%.

	C)
	10.0%.

	D)
	10.5%.




Question: 95 - 29381 

An investor is interested in buying a 4-year, $1000 face value bond with a 7 percent semi-annual coupon rate. The bond is currently priced at $875.60. The cash value of each coupon is $35 and the first put price is $950 in 2 years. What is the yield to put? 

	A)
	14.38%.

	B)
	8.65%.

	C)
	10.37%.

	D)
	11.88%.




Question: 96 - 29382 

A bond analyst needs to calculate the discount margin on a semi-annual floater. The bond has 6 years to maturity and pays 150 basis points above LIBOR. LIBOR is currently 6 percent and the bond is trading for $975.00. What is the discount margin? 

	A)
	150 basis points.

	B)
	250 basis points.

	C)
	25 basis points.

	D)
	203 basis points.




Question: 97 - 29384 

Given the following yield curve, find the 2-period forward rate, 1 period from today. Z1 = 6.36 percent; Z2 = 7.23 percent; Z3 = 8.04 percent. 
	A)
	8.89%.

	B)
	8.11%.

	C)
	7.98%.

	D)
	9.04%.




Question: 98 - 29386 

What is the holding period yield of a T-bill that has a bank discount yield of 4.5 percent and a money market yield of 4.615 percent if the T-bill matures in 200 days? 

	A)
	2.500%.

	B)
	2.250%.

	C)
	2.564%.

	D)
	4.615%.




Question: 99 - 29387 

What is the effective annual yield of a T-bill that has a money market yield of 5.665 percent and 255 days to maturity? 

	A)
	4.01%.

	B)
	5.92%.

	C)
	5.665%.

	D)
	5.71%. 




Question: 100 - 28607 

Which of the following statements about futures contracts is FALSE? 

	A)
	The futures clearinghouse allows traders to reverse their positions without having to contract the other side of the initial trade.

	B)
	Offsetting trades rather than exchanges for physicals are used to close most futures contracts.

	C)
	To safeguard the clearinghouse, the exchange requires traders to post margin and settle their accounts on a weekly basis.

	D)
	The major difference between forwards and futures is that futures contracts have standardized contract terms.




Question: 101 - 28608 

Which of the following statements is FALSE? 

	A)
	A plain vanilla interest rate swap involves trading fixed interest rate payments for floating rate payments.

	B)
	In a currency swap, the net notational principal is exchanged at the beginning and termination of the swap. Full interest rate payments are exchanged on each settlement date.

	C)
	In an interest rate swap the net interest rate payments are paid on each settlement date by the party owing it.

	D)
	A plain vanilla currency swap involves trading floating rate interest payments on dollars for fixed rate interest payments on foreign currency.




Question: 102 - 28609 

A call option sells for $4 on a $25 stock with a strike price of $30. Which one of the following statements is FALSE? 

	A)
	At termination, the writer of the call will only experience a net loss if the price of the stock exceeds $34.

	B)
	The call holder will only exercise the call if the stock's price equals or exceeds $25 at expiration.

	C)
	The buyer's maximum loss is $4 and maximum gain is infinite.

	D)
	The writer's maximum gain is $9 and maximum loss is infinite.




Question: 103 - 28610 

Which of the following statements about put and call options at expiration is FALSE? 

	A)
	A call buyer's maximum loss is the call option's premium.

	B)
	The potential loss to the writer of the call option is unlimited.

	C)
	The maximum gain to the buyer of a put is unlimited.

	D)
	The greatest profit the writer of a put can make is the premium.




Question: 104 - 28611 

Which of the following statements about swaps is FALSE? 

	A)
	The main motivation for a swap is cost reduction and privacy.

	B)
	The notational principal is swapped at the beginning and end of a currency swap.

	C)
	The notational principal is swapped at the beginning of an interest rate swap.

	D)
	A plain vanilla interest rate swap is the exchange of fixed for variable rate interest.




Question: 105 - 29385 

Which of the following statements regarding futures and forward contracts is FALSE? 

	A)
	Futures contracts are highly standardized.

	B)
	Forwards have default risk.

	C)
	Forwards require no cash transactions until the delivery date while futures require a margin deposit when the position is opened.

	D)
	Both forward contracts and futures contracts trade on an organized exchange.




Question: 106 - 29388 

Which of the following statements regarding option buyers and option writers is FALSE? 

	A)
	The writer of a put option promises to sell an asset at a specific price for a specific period of time.

	B)
	The buyer of a call option has the right to buy an asset at a specific price for a specific period of time.

	C)
	The buyer of a put or call option has limited loss potential (the option premium).

	D)
	Options are a zero-sum gain. What the writer makes, the purchaser loses and vice versa.




Question: 107 - 10797 

The gross rental income for an apartment building allowing for vacancies is $500,000. Estimated expenses total $200,000. If the capitalization rate is 10 percent what would be the value of this building using the direct capitalization approach? 

	A)
	$3,000,000.

	B)
	$3,500,000.

	C)
	$0.

	D)
	$2,500,000.




Question: 108 - 28583 

Which of the following statements about investment companies is FALSE? 

	A)
	The 12b-1 plan allows funds to deduct up to 1.25 percent of average assets per year to cover marketing expenses.

	B)
	The fund's net asset value is the prevailing market value of all the fund's assets divided by the number of fund shares outstanding.

	C)
	Closed end investment companies trade at the net asset value of the shares.

	D)
	The typical management fees charged to compensate the Management Company for the expense of running the fund are between 1/4 and 1 percent of the fund's net asset value.




Portfolio Management - 12 Questions - 18 minutes



Question: 109 - 28584 

Which on the following statements are TRUE? 

	A)
	Property and causality companies are taxed and regulated at the federal level.

	B)
	Banks are taxed and regulated at the state and federal levels.

	C)
	Pension funds are generally tax exempt and regulated at the state level through ERISA.

	D)
	Endowment funds are generally tax exempt and regulated at the federal level through ENDSA.




Question: 110 - 28585 

An investor has the following asset allocation:
· 60 percent of their money is in T-bills that earn 5 percent 

· 40 percent of their money is in stocks that are expected to earn 10 percent and have an expected standard deviation of 12 percent 

What is the expected return of their portfolio and its expected standard deviation, respectively?
	A)
	7%, 6%.

	B)
	4%, 3%.

	C)
	6%, 7%.

	D)
	7%, 5%.




Question: 111 - 28586 

The standard deviation of the rates of return is 0.25 for Stock J and 0.30 for Stock K. The covariance between the returns of J and K is 0.025. The correlation of the rates of return between J and K is: 

	A)
	0.10.

	B)
	0.20.

	C)
	0.35.

	D)
	0.33.




Question: 112 - 28587 

Which of the following statements about portfolio diversification is TRUE? 

	A)
	Because diversification reduces the portfolio's total risk, it necessarily reduces the portfolio's return.

	B)
	Ninety-five percent of the risk reducing benefits of diversification occurs when approximately 20 individual securities have been added to the portfolio.

	C)
	Proper diversification can reduce or eliminate a portfolio's nonsystematic risk.

	D)
	Proper diversification can reduce or eliminate a portfolio's systematic risk.




Question: 113 - 28588 

Stock A has a standard deviation of 10 percent. Stock B has a standard deviation of 15 percent. The covariance between A and B is 0.0105. The correlation between A and B is: 

	A)
	0.70.

	B)
	0.25.

	C)
	0.40.

	D)
	0.55.




Question: 114 - 28589 

Which of the following statements about asset allocation is FALSE? 

	A)
	Asset allocation helps to reduce volatility of a portfolio's returns.

	B)
	Eighty-five to 95 percent of a portfolio's total return comes from the asset allocation decision.

	C)
	Since equity securities are risky, a portfolio needs a sizable allocation of government securities in it to preserve capital value over long periods of time.

	D)
	The division of a fund's assets between different investment classes is called asset allocation.




Question: 115 - 28590 

Given:
	Scenario
	Probability
	Stock A's return
	Stock B's return

	1
	.5
	.30
	.150

	2
	.5
	.15
	.075


What is the covariance between the rate of return of Stock A and Stock B?
	A)
	0.0076.

	B)
	0.0876.

	C)
	0.0014.

	D)
	0.0028.




Question: 116 - 28591 

Which objectives and constraints must be considered when developing an investment policy statement? 

	A)
	All of these choices are correct.

	B)
	The investor's risk and return preferences.

	C)
	The investor's time horizon and liquidity needs.

	D)
	The investor's tax considerations and legal and regulatory requirements.




Question: 117 - 28592 

Barriers to international diversification come from all of the following EXCEPT: 

	A)
	highly developed capital markets.

	B)
	currency controls.

	C)
	exchange rate risk.

	D)
	lack of information.




Question: 118 - 28593 

Which of the following statements about the arbitrage pricing theory (APT) is FALSE? 

	A)
	The APT is a multi-factored risk model while the CAPM is a single factor risk model.

	B)
	The APT assumes competitive capital markets and the existence of zero investment arbitrage.

	C)
	Zero investment arbitrage means that when an investor shorts an overpriced security, the investor is given access to the short sale funds to buy underpriced securities.

	D)
	The APT has more restrictive assumptions than the capital asset pricing model (CAPM).




Question: 119 - 29371 

According to a study on bond returns during the period 1987-1996, the U.S. dollar generally weakened relative to the other countries in the study (specifically, Canada, France, Germany, Japan and the U.K.). Which of the following statements regarding the impact of exchange rates on security returns is TRUE? 

	A)
	When the home currency is weakening, the investor should invest less in foreign bonds.

	B)
	When the home currency is weakening, the investor should invest more in foreign bonds.

	C)
	Exchange rates have little impact on returns.

	D)
	Because the investor is earning dollars and spending dollars, he should invest solely in U.S. securities.




Question: 120 - 29372 

There are benefits to diversification as long as: 

	A)
	the correlation coefficient between the assets is less than 1.

	B)
	there is perfect positive correlation between the assets.

	C)
	there must be perfect negative correlation between the assets.

	D)
	there correlation coefficient between the assets is 1.


=========================================================================
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Answers

1) A
Standard III applies. Standard III(A1) states, "Members shall inform their employer in writing, through their direct supervisor, that they are obligated to comply with the Code and Standards and are subject to disciplinary sanctions for violations thereof." 

AIMR considers the responsibility required by III(A) to be an integral part of professional practice. "In writing" includes any form of communication that can be documented, even e-mail. "Employer" means immediate (direct) supervisor. Members should not assume that someone else will take care of it. New employees need to be alerted to the expectation that their conduct will meet high ethical standards. 



2) C

The fair dealing standard does not require clients to "check in" with management at least once per week to facilitate simultaneous dissemination of information regarding recommendations. Simultaneous dissemination is important though.


3) C
The power to approve or veto changes that affect shareholder wealth is not a requirement of "beneficial ownership." 



4) A
Sue should not discuss anything regarding her client and her client's intentions with the local chapter of United Way in order to comply with Standard IV(B5), Preservation of Confidentiality. It does not matter that her client intends to give money to charities in the near future. 



5) C
There are at least three misrepresentations. First, that Jamie is a portfolio manager, when he's really a trainee. Second, that the firm can provide all of the services they will ever need. Third, that he can guarantee a 75% return. 



6) A
This deductive reasoning is legal (does not constitute trading with inside information) and is called the mosaic theory. 



7) A
Peter may not trade on this information because it involves information about a tender offer. 



8) D
As long as the insider is not breaching his fiduciary responsibility, the information may be traded on. 



9) D
Election of internal auditors is not a major proxy issue. 



10) C
Consulting on your own time and obtaining written permission from your employer and the party you will be consulting for does not constitute a violation of Standard III(B). 



11) B
Sally is not in compliance with Standard III(B), Duty to Employer, because she failed to get written permission from her employer. She would also need written permission from the firm hiring her for the consulting work. 



12) D
Standard IV(A) does not require the member to quickly inform injured parties after a material misrepresentation has been made. 


13) A
She is violating all of the above except Standard IV(B1), Fiduciary Duties. Biloxi is not a client and Bailey owes no fiduciary duty. Her objectivity is compromised by her relationship with the founder. She has not disclosed this to her employer, and she does not have a reasonable basis for representations about the firm. 



14) B
He is violating fiduciary duties by benefitting, potentially at the expense of his clients, from the brokerage benefits to his personal accounts. Members must act for the benefit of their clients and place their clients’ interests before their own. 



15) A
The procedures for compliance with Standard IV(B2) include determining all of the aspects of a client’s investment objectives and constraints mentioned above, but do not include gathering information about the client’s social habits and interests. 



16) C
The mortgage payment per se is of interest to the portfolio manager only insofar as it affects the bigger picture issues such as liquidity needs, cash flow, etc. 



17) A
If an analyst figures out information on her own, she may trade on that information (called the mosaic theory). 


18) C
Research reports need not be tailored for the individual client. 


19) A
Skewed left mean < median. 



20) B
Expected value = (probability)(observation) 

Expected return = (.3)(.2) + (.7)(.1) = (.06) + (.07) = .13 



21) A
CV = (standard deviation / mean)100 



22) B
The probability of receiving a return greater than 8.00% is calculated as follows (where prob = probability): 

(prob of 8.0% - 10.0%) +  (prob of 10.0% - 12.0%) +   (prob of 12.0% - 14.0%)  (prob of over 14.0%) 
0.340 + 0.340 + 0.135 + 0.025 = 0.840. 
Note: 0.16 is the probability of receiving a return less than 8.00%. 



23) D
A normal curve is continuous. A binomial is discrete. The Poisson is the limiting form of the binomial where n is large and p is small. 



24) C
i = 12/12 = 1; n = 5 *12 = 60; PV = 15,000. Compute PMT = 333.67 



25) C
Suggested Strategy: Since you will have approximately 1.5 minutes for each question and this question appears very calculation intensive, it is likely that there is a “trick.” Here, start with the apartment building because the labor-intensive part of the calculation has been completed.  Remember that the standard deviation is the square root of the variance and that both the formula for the population variance and the formula for the sample variance have the same numerator (the sum of the squared result of the observation less the mean). The denominator of the population variance is the entire data set n, (5 here). The denominator of the sample variance is n-1, (or 4 here).
Thus, the population variance = (the sum of the square result of the observation less the mean) / number of observations.  Here, 15.76 = x / 5, x = 78.80.
So, the sample variance = 78.80 / 4 = 19.70, and the sample standard deviation = 19.701/2 = 4.44%.
The other statements are false. FYI, the calculations for the REIT are as follows:
· Mean = (15 + 8 + 13 + 9 + 13) / 5 = 11.6 

· (The sum of the observation less the mean)2 = [(15-11.6)2 + (8 – 11.6)2 + (13 – 11.6)2 + (9 – 11.6)2 + (13 – 11.6)2]  = 35.2 

· The population standard deviation = [(35.2 / 5.0)]1/2 = [7.04]1/2 = 2.65% 

· The sample standard deviation = [(35.2 / 4.0)]1/2 = [8.80]1/2 = 2.97% 



26) D
N=30; I/Y=6; PV=600,000; CPT PMT = 43,589.35. 



27) B
N=1; I/Y=12; PMT=0; FV =-2,000; CPT PV = -1,785.71.

N=2; I/Y=12; PMT=0; FV =-3,000; CPT PV = -2,391.58.

N=3; I/Y=12; PMT=0; FV =6,000; CPT PV = 4,270.68.

N=4; I/Y=12; PMT=0; FV =25,000; CPT PV = 15,887.95.

N=5; I/Y=12; PMT=0; FV =30,000; CPT PV = 17,022.81.

Sum the cash flows: $33,004.15. 


28) A
N=4; I/Y=12; PMT=0; PV =-2,000; CPT FV = -3,147.04.

N=3; I/Y=12; PMT=0; PV =-3,000; CPT FV = -4,214.78.

N=2; I/Y=12; PMT=0; PV =6,000; CPT FV = 7,526.40.

N=1; I/Y=12; PMT=0; PV =25,000; CPT FV = 28,000.00.

N=0; I/Y=12; PMT=0; PV =30,000; CPT FV = 30,000.00.

Sum the cash flows: $58,164.58. 


29) A
0.00109/(0.0205)(0.1004) = 0.5296. 



30) D

Note: The coefficient of determination (R2) is the square of the correlation coefficient.


31) B
Since you would generally be less confident about a specific forecast than all the forecasts, the prediction interval is wider than the confidence interval. 



32) D
The way the alternative hypothesis is written you are only looking at the right side of the distribution. You are only interested in showing that B is greater than 0. You don't care if it is less than zero. This is a one tailed test. 



33) C

Correlation analysis is a statistical technique used to measure the strength of the relationship between two variables. The measure of this relationship is called the coefficient of correlation. 
If the regression line is flat and the observations are dispersed uniformly about the line, there is no linear relationship between the two variables and the correlation coefficient will be zero.
All other choices are TRUE. 


34) B
Regression and correlation analysis does not prove a causal relationship. Rather it assumes it. 



35) D
Y = a + bX = 2 + (3)(10) = 32. 



36) A
10% +/-14(1.96) = -17.44% to 37.44%. 



37) B

Keynesian economists believe that a market economy, if left alone, is unstable and likely to experience prolonged recessions. As a result, governments should run budget deficits during a recession in order to stimulate demand and direct the economy back to full employment. 
Counter-Cyclical Policy
According to the Keynesian view, fluctuations in aggregate demand are the major source of economic disturbances. If demand can be stabilized and maintained at a level consistent with the economy's full employment capacity, the major source of economic instability will be eliminated.
If you combine the Keynesian aggregate expenditure model with an active expenditure on the part of the government, you can see that active fiscal policy can be used to help regulate economic instability. 
General Keynes 
Keynes' overall message can be summarized as follows: Businesses will produce only the quantity of goods and services they believe consumers, investors, governments, and foreigners will plan to buy. If these planned aggregate expenditures are less than the economy's full employment output, output will fall short of its potential. When aggregate expenditures are deficient, there are no automatic forces capable of assuring full employment. Prolonged unemployment will persist.
A key to this message is the expenditure multiplier, which builds on the point that ones individual's expenditure becomes the income of another. This multiplier explains why even small changes in investment, government, or consumption spending can trigger much larger changes in output. The multiplier magnifies the fluctuations in output and employment that emanate from autonomous changes in spending.


38) D

This is the basic definition of the velocity of money.


39) A
The Fed would lower, not raise the reserve requirement in an expansionary phase. The other answers would all serve to increase the growth rate of the money supply. 



40) A



41) C
Because price takers face a horizontal demand curve, they must take price as given and thus maximize profits when P=MR=MC.

The other statements are false. Although firms engaged in pure competition (price takers) maximize profits at the quantity corresponding to the minimum point on the average total cost curve (ATC) (in the long run), this is not necessarily true for price searchers. Price searchers face a downward-sloping demand curve. They produce at the quantity MR=MC and take price from the demand curve. The demand curve may be above the ATC curve. The potential allocative inefficiency of a price searcher engaged in monopolistic competition includes the social cost of not producing where P=MC. This potential allocative inefficiency may be outweighed by the benefits of product diversity. Some price searchers, (monopolists, for example), can earn positive economic profits in the long run. 


42) C
Movements along a demand curve result from changes in the price of the good. The other options, such as a change in disposable income, cause shifts in the entire curve. 



43) C
Choosing an apple over a fourth order of fries is an example of the law of diminishing marginal utility. The law of diminishing marginal utility states that as consumption increases, the benefit from consuming an additional unit decreases. 



44) D
In monopolistic competition, there is a large, not small, number of independent sellers. Monopolistic competition is another name for competitive price searcher markets. 



45) C

It is comparative advantage, not absolute advantage, that determines the pattern of trade. As long as there is some variation in the relative opportunity cost of goods across countries, each country will always have a comparative advantage in the production of some goods.
Comparative advantage is the ability to produce a good at a lower opportunity cost than others can produce it. According to the law of comparative advantage, trading partners are both better off if they specialize in the production of goods for which they are the low-opportunity cost producer and trade for those goods for which they are the high-opportunity cost producer. Relative cost determines comparative advantage. When trading partners specialize in producing products for which they have comparative advantage, costs are minimized, output is greater, and both trading partners benefit. 

Absolute advantage is the ability to produce a good using fewer resources (labor costs are an example of a resource). As long as the relative production costs of the two goods differ between the countries, gains from trade are possible.
The wages of a high-wage country will not decline if the country trades freely with a low-wage country. When each country produces goods for which it has a comparative advantage, both countries will benefit. High-wage countries will have an advantage in high tech manufacturing and low wage countries will have an advantage in labor-intensive goods. When both produce the goods for which they have an advantage, total output and the availability of goods will increase. If wages in a high-wage country were three times the wages in a low-wage country, the labor cost per unit of output in the high-wage country may be higher or lower than the per unit labor cost in the low-wage country. A high hourly wage does not necessarily mean high per unit labor costs. Labor productivity must be considered. The worker’s skill level, the amount of invested capital, and production methods may produce labor costs per unit of output below that found in low-wage countries. 



46) D
The Guilder now buys more dollars. 



47) B
The asking price is what the bank will sell a dollar for. The bid price is what the bank will buy a dollar for. In regular interbank transactions the dollar is always in the denominator (European terms), answer D the dollar depreciated while the DEM appreciated. 



48) D
When the bank bids they are buying and you are selling. Spot exchange rates, forward exchange rates, and interest rates are closely linked. The bid-ask spread between marks and dollars is 6.000/2.0015 = 2.9978 and 6.0025/2.000 = 3.0013. 



49) A
From the given exchange rates, we determine that the Canadian Dollar has appreciated against the Australian Dollar (the CAD now buys more units of AUD). An unanticipated shift to a more expansionary fiscal policy will, in the short run, lead to appreciation. The increased aggregate demand results in higher economic growth and higher inflation. These two factors normally result in currency depreciation. However, the third impact of the policy, increased budget deficits and government borrowing, increases real interest rates, resulting in currency appreciation. This last effect dominates in the short run.
 The other statements are false. An unanticipated shift to expansionary monetary policy would lead to currency depreciation.  The expansionary policy leads to higher economic growth, an accelerated inflation rate, and lower real interest rates. All these factors cause a nation’s currency to depreciate. Domestic products are more expensive, foreign investment is discouraged, and exports decline. 


50) D
First, convert to one currency (we will convert £ to €), then assume that consumers will purchase from the cheapest suppliers. The cheapest country appears in bold.
	Good

	France (in €)
	United Kingdom (in €)

	Jeans
	42
	26 * 1.5 = 39

	Wine
	18
	14 * 1.5 = 21

	Cheese
	5
	3 * 1.5 = 4.5

	LCD Screens
	85
	50 * 1.5 = 75


Thus, French consumers will minimize cost by purchasing French wine and British jeans, cheese, and LCD screens.


51) D
An analyst should be aware that management might try to manipulate earnings and other financial information. Management has this ability because they have discretion in reporting some items. If management is recognizing revenue (sales) more quickly than justified (for example, before title transfer):

· Accounts Receivable will be overstated because the firm debits (increases) this account when the sale is booked. (For this example, assume a $1,000 credit sale.) 

· Inventory will be understated because the cost of goods sold is credited to the inventory account at the time of sale. 

	For example, (Debits to the left, credits indented to the right):

	 
	 
	 
	 
	 

	Cost of Goods Sold
	$500
	 
	Inventory
	$500


 

· Retained earnings (through net income) will be overstated by the difference between the sales price and the cost of goods sold (or gross margin). In this example, the amount would be $1,000 - $500, or $500*. 

* Note: This example somewhat unrealistically assumes all gross margin flows through to the bottom line.



52) B
Revenue recognition requires completion of the earnings process and assurance of payment. For as long as Johnson has the right to return the purchased furniture (six months from date of delivery in September 2001 = March 2002), revenue is not recognized even though cash is received. If the buyer has the right of return, the revenue cannot be recognized until the right of return period has expired. 



53) B
The book value of the machine at January 1, 2001, was $3,600,000 (the purchase price of $6,600,000 less straight line depreciation for 30 of the 60 months of useful life based on purchase price less salvage value (($6,600,000 - $600,000) / 60 * 30 = $3,000,000). Revising the salvage value to $300,000 means that $3,300,000 ($3,600,000 - $300,000) remains to be depreciated over the revised remaining useful life of 18 months. Therefore, 12 of the final 18 months of depreciation take place in 2001, and 2001 depreciation is ($3,300,000 / 18 * 12 =) $2,200,000. 


54) C
A treasury stock account is created when a company reacquires its own stock. The full purchase price is debited to Treasury Stock. When treasury stock is sold, the Treasury Stock account is credited for the repurchase amount per share, with an additional credit to Paid-in Capital, Treasury Stock, if the sale price exceeds the reacquisition price. The 2000 repurchase is accounted for with a debit to Treasury Stock for $100,000. When half of the treasury stock is resold, $50,000 is credited to Treasury Stock and $30,000 is credited to Paid-In Capital, Treasury Stock. The balance in the Treasury Stock account is ($100,000 - $50,000 =) $50,000. 



55) D
Under the completed contract method, gross profit is not recognized until the contract is completed. Revenues are recognized to the extent of costs incurred, and the difference between advance billings and costs incurred of ($25 - $15 =) $10 million is maintained in the Net Advance Billings liability account. 



56) C
Receiving cash related to sale of equipment is an investing activity (CFF). Income taxes are considered to be from operating activities, even if they are from a purchase or sale of property. Cash received on a operating contract is cash flow from operations. 



57) D
Investing cash of $2 million was used to purchase the cargo plane. Proceeds from the sale of the plane were a source of $12 million of investing cash. Net CFI is $12 million - $2 million = $10 million. The interest payment is included in cash from operations (CFO) and the dividend payment in cash from financing (CFF). Redemption of the bonds is a use of cash from financing (CFF). 



58) D

The equations above all represent Return on Equity (ROE). The equations are from The DuPont system, which is used to calculate and analyze ROE. The DuPont system is the method of breaking down return ratios into their components - net profit margin and equity turnover.
 The traditional version of the DuPont equation is:  
Return on Equity (ROE) = (Net Profit Margin) * (Asset Turnover) * (Leverage Multiplier)
Learn this equation and remember it! The leverage term (Assets/Equity) is called the firm’s equity multiplier (a.k.a. financial leverage multiplier). It tells you the purchasing power of one new dollar of equity.


59) B
E Company’s interest coverage ratio (EBIT / interest expense) is (30 / 20 =) 1.5.

G Company’s interest coverage ratio is (25 / 5 =) 5.0. Higher interest coverage means greater ability to cover required interest and lease payments. Note that 1.5/5.0 = 0.30, which means the interest coverage for E Company is less than 1/3 that of G Company. 


60) D
When there is greater buying and selling activity in a stock, the size of the bid-ask spread is shrinking. The other answers are factors that indicate the general liquidity of a company’s shares is improving. 



61) D
Alabama Corp’s return on common equity ((net income – preferred dividends) / average common equity) for 2000 was ((215 – 25) / 800 =) 23.75 percent, and for 2001 was ((240 – 50) / 860 =) 22.10 percent, so there was a decrease of 1.65 points from 2000 to 2001. 



62) D
Connecticut’s January 1 balance of common shares outstanding is adjusted retroactively for the 1 for 3 reverse stock split, meaning there are (360,000 / 3 =) 120,000 “new” shares treated as if they had been outstanding since January 1. The weighted average of the shares issued in July, (60,000 * 6 / 12 =) 30,000 is added to that figure, for a total of 150,000. 



63) C
Basic earnings per share (EPS) ((net income – preferred dividends) / weighted average shares outstanding) is (($1,200,000 -$112,000) / 870,000 =) $1.25. Diluted EPS, which is calculated by redeeming the convertible preferred and eliminating the subtraction for preferred dividends, is ($1,200,000 / $1,030,000 =) $1.165 = $1.17 (accounting for rounding).

The warrants will be redeemed for common stock at a cost of $800,000 (1,000 * 100 * $8). Under the treasury stock method, exercising the warrants will provide Ebony cash in the amount of $800,000. At the average market price of $6.00, the $800,000 will purchase ($800,000) / $6 =) 133,333 shares. Net shares purchased will be (100,000 – 133,000 =) –33,000. This security is antidilutive because its calculated value is more than the average share price. It is therefore not included in computing Diluted EPS. Note that you could figure that the warrants are antidilutive without making any calculations. Simply observing that the average market price of $6 is less than the exercise price of $8 per share means that the warrants will be antidilutive. 


64) C
Orange’s basic EPS ((net income – preferred dividends) / weighted average common shares outstanding) is ((($7,600,000 – (10,000 * $1,000 * 0.08)) / 2,000,000 =) $3.40. Diluted EPS is calculated under the assumption that the convertible preferred shares are converted into common shares at the beginning of the year. The preferred dividends paid are added back to the numerator of the Diluted EPS equation, and the additional common shares are added to the denominator of the equation. Orange’s Diluted EPS is ($7,600,000 / (2,000,000 + 200,000) =) $3.45. Because computed Diluted EPS is higher than basic EPS, the preferred stock is antidilutive and only basic EPS is reported. 



65) A

During periods of rising prices, the last units purchased are more expensive than the existing units. Under LIFO, the cost of the last units purchased is assigned to cost of goods sold. This higher cost of goods sold results in lower income, as compared to the FIFO method.
As the name suggests, the weighted average method is based on mathematical averages rather than timing of purchase/use. Thus, cost of goods sold using this method falls between that of LIFO and FIFO.


66) C

	Sales
	

	- Big COGS
	

	= Little EBT
	

	- Small taxes
	Since taxes paid out are a cash outflow.

	= Small profits
	If taxes are smaller, then cash flow will be bigger.




67) B
Capitalization smoothes the reported income by spreading costs over the years, this will also make earnings ratios like ROA less volatile. The capitalizing company runs cost through CFI instead of CFO. So A's CFO will be higher and CFI lower. 



68) C

This statement should read, "Accelerated depreciation methods tend to decrease both net income and stockholders' equity when compared with the straight-line method." 

Depreciation: The underlying principle of depreciation is that cash flows generated by an asset over its life cannot be considered income until provision is made for the asset's replacement. This means that the definition of income requires a subtraction for asset replacement. The accounting problem is how to allocate the cost of the asset over time. Depreciation is the systematic allocation of the asset's cost over time.
Straight-Line Depreciation applies a constant amount of depreciation for each period over the life of the asset.
Accelerated Depreciation: There are two depreciation methods, sum-of-year's digits (SYD) and double-declining balance (DDB), which recognize greater depreciation expense in the early part of an asset's life and less expense in the latter portion of its life. Accelerated depreciation methods are usually used on tax returns (when allowed), because greater depreciation expense in the early portion of the asset's life results in less taxable income and a smaller tax payment.
Assuming the firm continues to invest in new assets, the following relationships hold: 

	
	Straight Line
	Accelerated (DDB & SDY)

	Depreciation Expense
	Lower
	Higher

	Net Income
	Higher
	Lower

	Assets
	Higher
	Lower

	Equity
	Higher
	Lower

	Return on Assets
	Higher
	Lower

	Return on Equity
	Higher 
	Lower

	Turnover Ratios
	Lower
	Higher

	Cash Flow
	Same
	Same


  

Note: The relationships indicated in the above table are reversed in the latter years of the asset's life if the firm's capital expenditures decline.


69) C
Ending Inventory under FIFO includes more recently purchased higher cost goods than under LIFO. The LIFO inventory consists of older, cheaper goods. Both before and after tax earnings under FIFO will be higher because less expensive goods are used for the cost of goods sold (COGS). Working capital, which is equal to current assets – current liabilities will also be higher under FIFO due the higher inventory balance causing a higher level of current assets. 



70) D
The gross profit margin under LIFO ((sales – cost of goods sold) / sales) is (($7,000,000 - $5,000,000) / $7,000,000 =) 28.6 percent. Under FIFO, cost of goods sold is reduced by the increase in the LIFO reserve, and the resulting FIFO gross profit margin is (($7,000,000 – ($5,000,000 – ($850,000 - $600,000)) / $7,000,000). Note that the tax rate only affects income totals after income tax expense is shown and does not affect the gross profit margin. 



71) A
With interest being capitalized, the interest coverage ratio (earnings before interest and taxes (EBIT) / Interest Expense) is (($9.0 + $3.0) / $3.0) = 4.0 times, given that Net Income + Interest Expense + Income Tax Expense = EBIT. If interest of $1.5 million is expensed, interest expense will increase to $4.5 million, and EBIT will still be ($7.5 + $4.5 =) $12.0 million. The interest coverage ratio after expensing of interest will be (12.0 / 4.5 =) 2.7 times. 



72) B
In an inflationary environment, straight-line depreciation based on historical cost is inadequate to provide for the asset’s replacement. The use of accelerated depreciation methods makes accounting depreciation closer to true economic depreciation for the early periods of an assets useful life. 


73) B
The write-down of a permanently impaired asset is considered a loss from continuing operations, and reduces operating profit (EBIT). After the write-down, the operating profit margin (operating profit / sales) will be reduced from ($6,000,000 / $27,000,000 =) 22.2 percent to ((($6,000,000 – ($5,000,000 - $3,500,000)) / $27,000,000 =) 16.7 percent. Salvage value is not relevant, except that the eventual sale price of the asset is factored into the computation of future cash flows. 



74) C
To be true, this should read profit is recognized as interest revenue over the life of the lease. The sales type lease allows the lessor to recognize profits at the lease inception. 



75) B
Capital Leases impact on the income statement: 

1. Calculate the depreciation charge: (3600000 - 600000) / 10 = 300,000 

2. Calculate the interest expense: 3,600,000(.10) = 360,000 

Sum of the two: 300,000 + 360,000 = 660,000 



76) A
Permanent tax differences are not deferred, but are considered increases or decreases in the effective tax rate. Dalrymple’s effective tax rate is ((($2,000,000 * 0.40) + ($1,000,000 * 0.20) + ($1,000,000 * 0.00)) / $4,000,000 =) 0.25. 



77) C
Income tax expense related to the installment sale is (($10,000,000 - $6,000,000) * 0.30 =) $1,200,000. Income taxes payable are (0.25 * $1,200,000 =) $300,000. The difference between income tax expense and income taxes payable, ($1,200,000 - $300,000 =) $900,000, increases the deferred tax liability account. The warranty results in tax expense reduction of ($600,000 * 0.30 =) $180,000. Taxes payable are not reduced because no warranty expense has been incurred. The tax-deferred asset account is increased by $180,000. The deferred tax asset and liability accounts exist at the same time and are not netted. 



78) B
Newberg, upon issuance of the bonds, recorded bonds payable of (N = (2*7) = 14, PMT = $175,000, I/Y = (6/2) = 3, FV = $5,000,000) $5,282,402. Interest paid June 30, 2001, was ($5,282,402 * (0.06 / 2) =) $158,472. The coupon payment was $175,000, reducing bonds payable to ($5,282,402 – ($175,000 - $158,472) =) $5,265,874. Interest paid December 31, 2001, was ($5,265,874 * (0.06 / 2) =) $157,976. Total interest paid in 2001 was ($158,472 + $157,976 =) $316,448. 



79) B
Convertible Preferred Stock is treated as equity in the total debt ratio. The total debt ratio (total debt / total assets) will decrease from (($14 + $22) / $79 =) 45.6 percent to (($14 + $22) / ($79 + 10) =) 40.4 percent. 



80) C
Baxter’s operating profit margin (earnings before interest and taxes (EBIT) / net sales) with the lease classified as an operating lease, is ($800,000) / $4,000,000 =) 20.0 percent. The factory equipment lease is for (7 years / 10 years =) 70 percent of the asset’s economic life. The minimum interest rate is seven percent based on the lease’s implicit interest rate of seven percent and Baxter Company’s incremental borrowing rate of eight percent, so the present value of the lease payments at a seven percent interest rate is (PV annuity N = 7, I/Y = 7, PMT = $300,000) $1,616,787. This is ($1,616,787 / $1,750,000 =) 92.4 percent of the asset’s fair market value at lease signing, so, because this is more than 90 percent of $1,750,000, the lease is a capital lease. The $300,000 payment made December 31, 2001, is allocated ($1,616,787 * 0.07 =) $113,175 to interest and ($300,000 - $113,175 =) $186,825 to principal. Depreciation expense is computed over seven years on a straight-line basis ($1,616,787 / 7 =) $230,970. Adjusting the income statement to remove operating lease expense and include depreciation expense results in operating income of ($800,000 + $300,000 - $230,970 =) $869,030. The operating profit margin is ($869,030 / $4,000,000 =) 21.7 percent. Note that interest expense of $113,175 will reduce net income but is below the “operating profit” line. 



81) B

You must consider changes in working capital at the beginning and ending of the project.


82) D

If projects are mutually exclusive, only one project will be accepted and the other will be rejected. For mutually exclusive projects, sometimes the IRR and NPV methods give different accept or reject decisions. The NPV method is better then since the NPV method is the one that selects the project that maximizes shareholders’ wealth.
Example:
The following is an attempt to explain this in more detail.  Say that we have two mutually exclusive projects, A (with IRR 14.5%) and B (with IRR 11.8%). Plotting the NPV's on a graph with the cost of capital on the x-axis and the NPV on the y-axis shows that the lines intersect at a "crossover rate" at which the NPV's of both projects are equal. At discount rates less than this crossover rate, NPVB > NPVA. At discount rates more than this crossover rate, NPVA > NPVB.   
To find this crossover rate, calculate the differences between the cash flows of the two projects and then find the IRR of the cash flows. Assume the cash flow differences are as follows:CF0=0, DCF1 = 1,000 – 200 = 800, DCF2 = 800 – 600 = 200, DCF3 = 600 - 800 = – 200 and DCF4 = 200 – 1,000 = – 1000. The IRR(A-B) = 7.2%. 
As long as the cost of capital is greater than the crossover rate of 7.2% both methods give the same decision, so accept A. (NPVA>NPVB>0 and IRRA>IRRB>10.0%>7.2%). However, if the cost of capital is less than the crossover rate the NPV method ranks Project B higher while the IRR method ranks Project A higher. Thus, a conflict exists. Only the NPV method selects the project that maximizes shareholders’ wealth.
 



83) A
This statement should read, "The bird in hand theory implies that investors prefer current dividends to capital gains.” 
More detail on the Bird in Hand Theory: Myron Gordon and John Lintner argue that ks decreases as the dividend payout increases. Why? Because investors are less certain of receiving future capital gains from the reinvested retained earnings than they are of receiving current certain dividend payments. Gordon/Lintner argue that investors value a dollar of expected dividends more highly than a dollar of expected capital gains because the dividend yield component (D1/Po) is less risky than the growth component (g) in the total expected return equation: ks =D1/Po + g. The Gordon/Lintner argument is called the bird-in-hand-theory. 

The tax preference theory: There are three tax related reasons why investors might prefer the shares of firms offering a low payout: 

· Capital gains are taxed at a lower rate than dividend income. 

· Capital gains taxes are not paid until they are realized. Thus, retentions are allowed to accumulate in a tax-free environment. 

· If stock is held until the owner’s death, the stock’s basis is increased and no capital gains taxes are due. 

Residual Dividend Model: For a given firm, the optimal payout ratio is a function of the following four factors: investors’ preferences for dividends versus capital gains, the firm’s investment opportunity schedule (IOS), the firm’s target capital structure, and the availability and cost of external capital to the firm. 

The last three items constitute the residual dividend model. Here the firm follows four steps to determine its target payout ratio: determine the firm’s optimal capital budget, determine the amount of equity needed to finance that capital budget given the firm’s target capital structure, use retained earnings to meet equity requirements to the greatest extent possible, and pay dividends only if more earnings are available than are needed to support the optimal capital budget. Residual means “leftover,” and the residual policy implies that dividends are paid out of leftover earnings.
If a firm follows the residual dividend policy, its dividend payments may be unstable. If the firm's investment opportunities improve, the dividend payout will tend to fall. Since investment opportunities and earnings may vary from year to year, strict adherence to a residual dividend policy would result in fluctuating dividends.



84) D

When constructing indexes, a small percentage of the total population will provide valid indications of the behavior of the total population if the sample is properly selected. At some point the costs of taking a larger sample will almost certainly outweigh any benefits of increased size.  Unless a sample is representative of the total population, its size is meaningless. A large biased sample is not better than a small biased sample.


85) D

The other choices represent the three steps in estimating a firm's profit margin, which is one step in estimating a firm's earnings per share (EPS). Determining the firm's sales estimate is also a step in estimating EPS, but is a separate calculation.


86) C
Since contrarians feel that the majority of investors are always wrong, they wait to see what the investing public is doing and do the opposite. This approach comes from the greed/panic view of the investment process. As the market advances, the investing public is afraid they will be left behind. Their greed tells them to buy. Later, as the market plunges, investors panic. Fearing that they won't be able to get out, they sell. In the end, investors tend to do the wrong thing at the right time. Thus, a wise contrary-opinion technician does the opposite of what the general public does. 

Contrary-opinion technicians use the following technical indicators to make investment decisions:
 - CBOE put/call ratio: A decreasing put call ratio (PCR) would indicate that investors are becoming bullish, so contrary-opinion technicians would become bearish. If the PCR is = to or > .50 the market is bearish, so contrarians are bullish and buy. If the PCR is = to or < .35 the market is bullish, so contrarians are bearish and sell.  

 - Futures traders bullish on stock index futures: When a smaller percentage of  speculators are bearish, contrarians will become bearish. In other words, when 75 percent or more of speculators are bullish, contrarians become bearish and sell. When 25 percent or less of speculators are bullish, contrarians become bullish and buy. 

 - Mutual fund cash positions: You should also note that when the mutual fund cash ratio is high, a technician would read it as a bearish indicator. Why? Because the lack of cash holdings indicate lack of potential future buying power in the market, which would be bearish. 

The mutual fund cash position is a function of investor expectations and the institution’s view of market expectations. Contrary-opinion technicians feel mutual fund cash positions are a good indicator of institutional investors and that they are usually wrong at picking the peaks and troughs of the market cycle. If the MFR is greater than 13 percent, it implies funds are holding cash and are, therefore, bearish on the market. On the other hand, contrary-opinion technicians are bullish and are therefore, buying securities. If the MRF is less than 5 percent, it implies funds are investing cash and are, therefore, bullish on the market. On the other hand, contrary-opinion technicians are selling, which implies they are bearish. 

- OTC vs NYSE Volume: OTC issues are more speculative than NYSE issues. If the volume ratio (VR) is equal to or greater than 112 percent, speculation in the bull market is high. Therefore, contrarians are bearish and selling, since they feel that the market has peaked. If the VR is equal to or less than 87 percent, investors are bearish. Therefore, contrarians are bullish (buying). You should note that the volume ratio limits (112 percent and 87 percent) vary significantly over time. Currently, the direction of the volume ratio is used as a guide for the degree of speculation trading. 

- Investor credit balances in brokerage accounts. The contrarian view is: Falling balances mean investors are bullish, so contrarians will be bearish and sell. Rising balances mean investors are bearish, so contrarians will be bullish and buy. Note that a technical view of a build up in credit balances would be that there is an increase in potential future buying power in the market, which would be bullish. 

- Investment advisory opinions: If the IAR is equal to or greater than 60 percent, it implies the market is bearish. Therefore, contrarians are bullish and buy. If the IAR is less than or equal to 20 percent, it implies the market is bullish. Therefore, contrarians are bearish and sell. 



87) D
The bondholder always receives coupon payments made by the issuer and not the opposite since would correspond to a negative interest rate. 



88) A
According to the liquidity premium hypothesis, the yield curve should slope upward. It holds that long-term securities should provide higher returns than short-term obligations because investors are willing to sacrifice some yields to invest in short-maturity obligations to avoid the higher price volatility of longer-maturity bonds.  

Explanation for other choices:
According to the pure expectations hypothesis, the shape of the yield curve results from the interest rate expectations of market participants. More specifically, it holds that any long-term interest rate simply represents the geometric mean of current and future 1-year interest rates expected to prevail over the maturity of the issue. The expectations theory can explain any shape of yield curve. 
The segmented market hypothesis contends that borrowers and lenders prefer particular segments of the yield curve. Preferred habitat is another name for the segmented market theory.


89) A
Coupon rate = $ coupon/1000 par 

Current yield = $ coupon/price 

YTM = current yield - amortized premium or + discount. 



90) A

 There are three primary rating agencies in the U.S:  

- Moody’s assigns ratings on a system that employs up to four symbols, such, Aaa, Aa etc. with Aaa being the highest or safest rating. 

- Standard & Poors (S&P) employs a system that uses + and – along with letters such as AAA, AA+ etc. 

 - Fitch (formerly known as Dodge and Phelps) uses a system similar to S&P.  

The three rating agencies’ systems are summarized in the table below: 

	S & P
	Fitch
	Moody's 
	Explanation

	High Credit Quality - Investment Grade

	AAA
	AAA
	Aaa
	Prime Grade, Highest Safety 

	AA+
	AA+
	Aa1
	High Credit Quality 

	AA
	AA
	Aa2
	

	AA-
	AA-
	Aa3
	

	A+
	A+
	A1
	Upper-Medium Credit Quality 

	A
	A
	A2
	

	A-
	A-
	A3
	

	BBB+
	BBB+
	Baa1
	 

	BBB
	BBB
	Baa2
	Lower-Medium Credit Quality 

	BBB-
	BBB-
	Baa3
	 

	Lower Credit Quality - Speculative Grade

	BB+
	BB+
	Ba1
	 

	BB
	BB
	Ba2
	Speculative - low quality 

	BB-
	BB-
	Ba3
	 

	B
	B+
	B1
	Highly speculative nature 

	
	B
	B2
	

	
	B-
	B3
	

	CCC+
	CCC+
	Caa
	Very high risk, poor quality 

	CCC
	CCC
	
	

	CC
	CC
	Ca
	May be in default soon 

	C
	C
	C
	Very, very, speculative 

	CI
	
	
	For income bonds, interest not being paid 

	 
	DDD
	
	 

	D
	DD
	
	Securities already in default 

	
	D
	
	 

	
	
	
	


 



91) A
1r1 = [(1 + R2)2 / (1 + R1)1] - 1 = [(1.045)2/(1.04)1] - 1 

[1.092 / 1.04] - 1 = .05 



92) D
ΔP/P = (-)(MD)(Δi) 

ΔP = (-)(P)(MD)(Δi) 

ΔP = (-)(8)(850)(-.005) = +$34 



93) B
Modified duration is a good approximation of price changes for an option-free bond only for relatively small changes in interest rates. As rate changes grow larger, the curvature of the bond price/yield relationship becomes more prevalent, meaning that a linear estimate of price changes will contain errors. The modified duration estimate is a linear estimate, as it assumes that the change is the same for each basis point change in required yield. The error in the estimate is due to the curvature of the actual price path. This is the degree of convexity. If we can generate a measure of this convexity, we can use this to improve our estimate of bond price changes. 



94) B
Current yield = annual coupon payment/price of the bond 

CY = 100/1100 = .0909 



95) D
N=2*2=4; PV = -875.60; PMT = 70/2 = 35; FV = 950; Compute I/Y = 5.94 * 2 = 11.88%. 



96) D
N = 6*2=12; PV = -975.00; PMT = 75/2 = 37.50; FV = 1000; Compute I/Y = 4.016 * 2 = 8.03%. 8.03% - 6% = 2.03% or 203 basis points above LIBOR. 



97) A
(1.0804)3 = (1.0636)1(1+t+1f2)2, (1+t+1f2)2 = 1.1857, ((1+t+1f2)2)1/2 = 1.18571/2, 1+t+1f2  = 1.0889, t+1f2 = 8.89%. 


98) C
4.615/(360/200) = 2.564%. 



99) D
Holding Period Yield = 5.665/(360/255) = 4.0127%

Effective Annual Yield = (1.040127)360/255 = 1.0571 – 1 = 5.71%. 


100) C

Each exchange has a clearinghouse. The clearinghouse guarantees that traders in the futures market will honor their obligations. The clearinghouse does this by splitting each trade once it is made and acting as the opposite side of each position. To safeguard the clearinghouse, the exchange requires traders to post margin and settle their accounts on a daily basis. Before trading, the trader must deposit funds (called margin) with their broker (who, in return, will post margin with the clearinghouse). The purpose of margin is to ensure that traders will perform their contractual obligations. Margin can be posted in cash, bank letters of credit, or in T-Bills.
The clearinghouse acts as the buyer to every seller and the seller to every buyer. By doing this, the clearinghouse allows either side of the trade to reverse positions later without having to contact the other side of the initial trade. This allows traders to enter the market knowing that they will be able to reverse their position any time that they want. Traders are also freed from having to worry about the other side of the trade defaulting, since the other side of their trade is now the clearinghouse. In the history of U.S. futures trading, the clearinghouse has never defaulted.
Explanations for other choices:
A reverse, or offsetting, trade in the futures market is how most futures positions are settled.  Since the other side of your position is held by the clearinghouse, if you make an exact opposite trade (maturity, quantity, and good) to your current position, the clearinghouse will net your positions out, leaving you with a zero balance. 
Listed below is additional information contrasting futures and forwards:
- Forwards are private contracts and do not trade on an organized exchange. Futures contracts trade on organized exchanges. 
- Forwards are unique contracts satisfying the needs of the parties involved. Futures contracts are highly standardized. A futures contract specifies the quantity, quality, delivery date, and delivery mechanism. 
- Forwards have default risk. The seller may not deliver, and the buyer may not accept delivery. With futures contracts, performance is guaranteed by the exchange’s clearinghouse.
- Forwards require no cash transactions until the delivery date. Futures contracts require that traders post margin money to trade. Margin is good faith money that supports the trader’s promise to fulfill their obligation.
- Forward contracts are usually not regulated. The government regulates futures markets.


101) B
Full notational principal is swapped at the beginning and end. 



102) B
The maximum gain is 4 premium and 5 appreciation. The call holder will exercise if S>$30. At $30 the option will be exercised, but the writer will only lose money in a net sense when the stock's price exceeds X + C. 



103) C
The maximum gain to the buyer of a put is limited to the value of the stock less the premium. 



104) C

In interest rate swaps, there is no need to actually exchange the notional amount, since the notional principal swapped is the same for both counterparties and in the same currency units. Net interest is paid by the one who owes it at settlement dates.
Explanations for other responses:
- The reasons given now for using the swap markets are to: reduce transactions costs, avoid costly regulations, and maintain privacy. Historically, there were two basic motivations for swaps: to exploit perceived market inefficiencies and to attempt to obtain cheaper financing. Both of these motivations are based on the concept that the financial markets are inefficient. This fact, unfortunately, is no longer true.  Today, the swap markets are mature and offer few arbitrage opportunities. Swap markets are now viewed as being more operationally efficient and a more flexible means of packaging and transforming cash flows than any other method. Currency swaps often occur because of comparative advantage. For example, parties may want to reduce borrowing costs. One firm may have better access to a country’s domestic capital markets than another firm. The U.S. firm (D) may have access to the U.S. capital markets but not the German markets, while the German firm (M) may have access to the German markets but not the U.S. markets. If each firm borrows locally and then exchanges the funds, they will both gain.
- In a currency swap, interest payments are made without netting. Full interest payments are exchanged at each settlement date. Currency swap counterparties actually exchange notional principal because the motivation of the parties is to receive foreign currency. 



105) D
Forward contracts are custom-tailored contracts and are not exchange traded while futures contracts are standardized and are traded on an organized exchange. 



106) A
The put seller or writer is agreeing to buy, not sell, at a specific price. 



107) A
NOI = 500,000 - 200,000 = 300,000 

MV = NOI / Capitalization rate = 300,000 / .10 = 3,000,000 


108) C
Closed end funds sell for whatever people will pay for them. Closed end funds typically sell at premiums or discounts from their NAV. 



109) B
Pension funds are regulated at the federal level, endowment funds are regulated at the state level. 



110) D

ERtwo stock portfolio = W1ER1 + W2ER2 = (.6)(.05) + (.4)(.1) = .07
σportfolio = [W12σ12 + W22σ22 + 2W1W2σ1σ2r1,2]1/2
σportfolio = [(.6)2(0)2 + (.4)2(.12)2 + 2(.6)(.4)(0)(.12)(0)]1/2
σportfolio = [.0023]1/2 = .048


111) D
Covariance = (standard deviation J)(standard deviation K)(correlation coefficient) 

.025 = (.25)(.30)(correlation coefficient) 

Correlation coefficient = .025/(.25)(.30) = .33 



112) C
Total risk = systematic risk + unsystematic risk. 

Unique or company risk is unsystematic and can be diversified away.
Explanations for other choices:
- Market or systematic risk cannot be diversified away. 
- Academic studies show as you increase the number of stocks in a portfolio, the portfolio’s risk falls toward the market risk. One study showed it only took about 12 to 18 stocks in your portfolio to reach the point of maximum diversification. Another study indicated it took 30. Whatever the number, it is significantly less than all the securities. 

- Diversification reduces the standard deviation of return. In equilibrium, all assets and all portfolios should plot on the security market line - that is, they should be priced so that their estimated rates of return are consistent with their levels of systematic risk.


113) A

Covariance = σxσyrxy
Covariance = 0.0105 = (0.1)(0.15)rxy
rxy = 0.0105/0.015 = 0.7


114) C
Over long time periods, equities are riskier (more volatile) than governments. Over short time periods, however, governments may be more volatile than equities. Historically, equities have outperformed bonds and government securities over time. On a real basis (return less inflation), governments don’t always provide positive real returns. Even though equities are risky, a portfolio needs a sizable allocation in equities to preserve capital value over long time periods. 
All other choices are TRUE.


115) D

 

CovarianceA,B =σ(prob)(RA - RAave)(RB - RBave)
Mean A = (.5)(.3) + (.5)(.15) = .225
Mean B = (.5)(.15) + (.5)(.075) = .1125
Covariance = (.5)(.3 - .225)(.15 - .1125) + (.5)(.15 - .225)(.075 - .1125) = + 0.0028
Note: This is the covariance, it is in return units squared (.28%2).  It is not the correlation coefficient, which is a pure number between + 1 and - 1.


116) A



117) A
This choice should read, "less developed capital markets." 

Other barriers to international diversification include: lack of liquidity and country specific tax regulations.



118) D
The APT is a multi-factored model (meaning it allows multiple risk factors), and it relies on very few assumptions. The theory behind this model is that arbitrage activities will cause security prices to remain in equilibrium. The CAPM relies on several restrictive assumptions and is a one-factor model, meaning it considers only market risk. 

The APT also assumes investors prefer more wealth to less wealth. The APT does not specify or identify what the risk factors are. If, however, there were only one risk factor (market risk), the APT would equal the CAPM.



119) B
When the home currency is weakening, the investor should invest more in foreign bonds. As the dollar weakens, a U.S. investor will earn a higher return on foreign investments because each foreign currency unit buys more dollars. 



120) A
There are benefits to diversification as long as the correlation coefficient between the assets is less than 1. 
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